

$$\min \sum_{i=1}^n (Y_i - \beta_0 - \beta_1 X_{i1} - \dots - \beta_p X_{ip})^2 = \min f(\beta_0, \beta_1, \dots, \beta_p)$$

> differentiate w.r.t β params; set = 0

$$\frac{\partial}{\partial \beta_0} f(\beta_0, \dots, \beta_p) = \sum_{i=1}^n 2(Y_i - \beta_0 - \beta_1 X_{i1} - \dots - \beta_p X_{ip})(-1) \stackrel{\text{set}}{=} 0$$

$$\frac{\partial}{\partial \beta_1} f(\beta_0, \dots, \beta_p) = \sum_{i=1}^n 2(Y_i - \beta_0 - \beta_1 X_{i1} - \dots - \beta_p X_{ip})(-X_{i1}) \stackrel{\text{set}}{=} 0$$

⋮

$$\frac{\partial}{\partial \beta_p} f(\beta_0, \dots, \beta_p) = \sum_{i=1}^n 2(Y_i - \beta_0 - \beta_1 X_{i1} - \dots - \beta_p X_{ip})(-X_{ip}) \stackrel{\text{set}}{=} 0$$

⇒ GIVES ESTIMATING EQUATIONS

$$\sum_{i=1}^n Y_i = \sum_{i=1}^n (\beta_0 + \beta_1 X_{i1} + \dots + \beta_p X_{ip})$$

$$\sum_{i=1}^n X_{i1} Y_i = \sum_{i=1}^n X_{i1} (\beta_0 + \beta_1 X_{i1} + \dots + \beta_p X_{ip})$$

⋮

$$\sum_{i=1}^n X_{ip} Y_i = \sum_{i=1}^n X_{ip} (\beta_0 + \beta_1 X_{i1} + \dots + \beta_p X_{ip})$$

BIostatistics 140.653
LEAST SQUARES DERIVATION
FOR MULTIPLE LINEAR REG.

MATRIX ESTIMATING EQUATIONS

$$\cdot \sum_{i=1}^n Y_i = \underbrace{(1 \dots 1)}_n \underline{Y}$$

$$\sum_{i=1}^n X_{i1} Y_i = (x_{11} \dots x_{n1}) \underline{Y}$$

$\vdots$

$$\sum_{i=1}^n X_{ip} Y_i = (x_{1p} \dots x_{np}) \underline{Y}$$

$$\cdot \beta_0 + \beta_1 X_{i1} + \dots + \beta_p X_{ip} = (1 \ x_{i1} \ \dots \ x_{ip}) \begin{pmatrix} \beta_0 \\ \beta_1 \\ \vdots \\ \beta_p \end{pmatrix}$$

$$= (1 \ x_{i1} \ \dots \ x_{ip}) \underline{\beta}$$

$$\bullet \sum_{i=1}^n (\beta_0 + \beta_1 X_{i1} + \dots + \beta_p X_{ip})$$

$$= (1 \ 1 \ \dots \ 1) \begin{bmatrix} (1 \ X_{11} \ \dots \ X_{1p}) \beta \\ (1 \ X_{21} \ \dots \ X_{2p}) \beta \\ \vdots \\ (1 \ X_{n1} \ \dots \ X_{np}) \beta \end{bmatrix}$$

$$= (1 \ 1 \ \dots \ 1) X \underline{\beta}$$

• SIMILARLY

$$\sum_{i=1}^n X_{i1} (\beta_0 + \beta_1 X_{i1} + \dots + \beta_p X_{ip}) = (X_{11} \ \dots \ X_{n1}) X \underline{\beta}$$

$$\vdots$$

$$\sum_{i=1}^n X_{ip} (\beta_0 + \beta_1 X_{i1} + \dots + \beta_p X_{ip}) = (X_{1p} \ \dots \ X_{np}) X \underline{\beta}$$

• SUMMARIZING, EQUATIONS (= NORMAL EQUATIONS) ARE

$$\boxed{X^T \underline{Y} = X^T X \underline{\beta}}$$